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(A)2.9 (B)3.0 (O)3.1 (D)3.2
<f%$7>
ERAZEx9-)3.2=9E—0x9 » E=32

n

A6k EFEL A ERA=—2 x9-3 > i B o
a 90+6

(A )23 f(x)=px*+gx° +m? +sx+1 Lo w53 (x—l)”,%i AN
3orx-2 2 HARN L 60 x+2 Y2 # AL 138 B ptqtr-s-t=?
(A)S (B)-5 (C)6 (D)-6

<f%$7>

K f(x)=(ax+b)(x—1) +3

f(2)=Qa+b)(2-1)Y+3=6

f(-2)=(2a+b)(-2-1) +3=138

2a+b=3
-2a+b=-5
=»a=2 > b=-1

F(xX)=Qx=D(x-1Y+3=2x"-7x" +9x> -5x+4
prqtr-s-t=2-7+9+5-4=5 > iE A -
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(CR FUIETRBRAL fRLEDIF 0 FHHE N2
%K/\r%mq-‘ﬁ/’}—)ﬂ"i)ii?d%élﬂ&c;u C » 0<1<100 >

SRR EA B ADE AT A4 A F R ko B2
(A)30 (B)60 (C)50 (D)40
<fE47>
4r

C= <4 » r<50
100-r

g

2 Co

( C )4. cos*22.5°+cos* 67.5°+cos* 112.5°+ cos*157.5° = ?
A) 5 ®1 (© 3 (D)2

<fE47>

" c0s157.5° = cos(180° —22.5°) = —c0s22.5°

=» cos*157.5° = cos* 22.5°
fe T2 cos*112.5° = cos” 67.5°

(1+cos45°) L+ cos135°)?

J 38 =2(cos* 22.5°+ cos* 67.5°) =2 ]

4 4
B (1+*/2§)2 (1—*/25)2 3 L
I

2x? +ax+2

2

( B )5. For all real number x,
x —x+1

<3 1s true. The range of real

numberais .
(A) -4<a<-2 (B) -5<a<-1 (C) r<a<4 (D) l<a<5
<fEt7>
Ul —x+1>00E ﬁ( | &) 58 D=1 -4=-3<0)
L2xt+ax+2<3(xF —x+1)
=2 2 —(a+3)x+120
" D=(a+3)-4<0D (a+3+2)(@+3-2)<0P-5<a<-1 » if Bo



(B Y—3f2eM ?2aid AP rid ap/Pdd 2 243

d - Fagdi o Bl 57 ahd 2 A

(A)72 (B)84 (C)9% (D)108 #&
<f%$7>
3@%:9?4%@_)6?3%@_ B D
£4 124

:’zi:‘-’:ﬁ Aigr > cd B
d BRAL Rl 3 342
"2d BRSSP NE 5 28220 45 214
3 g 2X2=4 46 > 4+3=T f&
C 12X 7=84 48 > E B o

( B )7.3% a=2" > b=3"° > % 5Tloga=7.8260 * logh=7.6336 » * 7| f?—*ﬁﬁﬁ?i?
(A)a 5= 7 =% (B)b = 8 i=# (C)ab % 14 =8 (D)ab = 15 = #&c

<f%$7>

"."loga =7.8260 > logh=7.6336

.a~b ‘,‘5'3«5'\8 > #ic

"."logab =loga +logh =7.8260+7.6336 =15.4596

C.ab 5 16 Kk

((C)H8Je— Rl P M (R 52% B9 48754 > EE75¢ 13 fhlk
F ) EiE 55 R 5% 5 FULL HOUSE 25 (5] 4-:AAAKK >
22233) > £ 5 5 2 44? (A)4056 (B)2028 (C)3744 (D)1872 #&

<fE47>

CPPxCixCP xCh=13x4x12x6=3744 » iE C ©
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( AT F 3\ x-1+[x-3<6fF 5 @ ?

(A)-1<x<5 (B)-1<x<3 (O)x>5 & x<-1 (D)x>3 & x<-1
<f%$7>
7 x<l > -(x-1)-(x-3)<6 » -2x<2 » x>-1

2>-1<x<1
3 1=x<3 s (x-1)-(x-3)<6 > 2<6(|Z %)
=21 =x<3
T x=3 0 (x-1)+(x-3)<6 » 2x<10 » x<5
>3 =x<5

Al-1<x<5 > i A -

( C )10. Arrange 55 numbers on front side of the pyramid, and the sum of
all the numbers on this plane is S, find S=
(A)5025 (B)4025 (C)3025 (D)2025

<f%$7>
WH kA Bz ok g
-)ak=k+3k+5k+...+(2k—1)k=k[k+(22k_1)k]=k3
S= ikt(wx“) ~3025
(A Il £%G -4 - 2235 ABCD> AB ~ BC  CD ~ DA 514 £ 54 5]
TEHRLAMNP QRS°E*4'L"PR 37 QS= 4’51] = 35 ABCD
gL AL502(A) T (B)S (O S (D) 2
<f%$7> A
X I 25 ABCD i £ 3 x :
E'JQ_N:m:x » SN=+/16—x" B
" APMR~AQNS
. MR NS X 16— x*
= Z = L
PR QS-)3 2 P R Q S
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(A )27 53 2=322° 8 30 _gw » P x—p=2
(A2 (B)3 (O4 (D)5

<f%47>
5 3y-6 _
2i=pr HI_=6, 5,64
X y X y
15p43% _ ~dx 15 3
3 Z 3 mP 5y 13 =4xy 0 4+ =4
X )y
l:l ’ l:lexzs v y=3
X 5 y 3
X-y=2 > % A

( D)I3.E 58z %ied ARE BR L2 A 40%% 60% A fu? A& chi
S0 3 1% S B A A S § SRS %9
FRRF W e BEOR S Bl TER S ARG g 559

A) 2 ® 2 © 2o

<fE47>

T;’l’{:}iX%\‘P’]/{ IENES =@ N o b At

Y 2w e - 2 AR anE 2

by )= PEXOY) 0.4x0.01 2, =D,

P(X)  0.4x0.01+0.6x0.05 17

(A )43 % Bud & R 1 Frrkod £305 20%: 5 < 1 E T 40%
AliEs £ FF e T £ 5 5 07 (° 4rlogl2~0.0792 >
logl.4~0.1461 > log1.297z0.1127)

(A)29.7% (B)27.7% (C)25.7% (D)23.7%

<f%$7>

4 £ 12a

£ # 1.2aX1.4=1.68a

a(l+x)* =1.68a

2log(l1+x) =1og1.68 =P 2log(1+ x) =log1.68 =logl.2 +logl.4 =0.2253

log(1+x)=0.11265~0.1127 =1og1.297

x=0.297=29.7% > £ A -



( B )I15. There are eight students were average distributed four class. The
probability that Sam and Dora are in differernt class is :

7 6 5 4
@ ®° ©: m?

<f%$7>
4><3><C16><C15><C‘2‘><C§_é = B
CxCoixCixC: 7 %

( A)I6.+ B & EB==F R#c? N 3 ly=r0) A B35 ° B
21X ghA B3 2 2H(-2,0) 0 (1,0) 2 (4,0) > B3 %3 f(1-x)<0 £

f2 5 @7
(A)x<-3 &% 0<x<3 (B)x>-3 & 0<x<3
(O)x<-2 & 0<x<2  (D)x>-2 & 0<x<2
<f%$7>
K f(x)=k(x+2)(x-1)(x-4) > & ¥ k<O(R7) 7w ™)
f(1-x)=k(1-x+2)(1-x-1)(1-x-4)<0
> k(3-x)(-x)(-3-x)<0
=>-k(x-3) Xx X (x+3)<0
= (x-3) Xx X (x+3)<0
> x<-3 &% 0<x<3 > iE Ao
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(CHI7TEZTE 1X1>2X2>3X3 3 #9¢ gieF Rt

112 |3
11 2 2123
1 2 | 2 313 |3

dod e ISX1S5 e 9 o dob G A RE 2 #cF 0 BIATE O~ 0
225 B #EF BAeE% 2?7 (A)2160 (B)2260 (C)2360 (D)2460
<f%$7>
1210 2231 3255
k>(2k-1) 1}
15>(2X15-1)
I+2X3+3 X5+....... +15(2X15-1)

15 15 15
ZZk(2k—1)=2Zk2—Zk:2x15(15+16)(30+1)—15>2<16:2360 3 Co
k=1 k=1 k=1

( B)ISHEHEITLHEEH b A X HELF Y 575 T
BT ARl Rliche ™ D x=650 y=70°5,=10°5,=5>r=08 >
FUFLE G R EREAF LTS A I EEE R AR AR

LA IERE S E S S 22(A)72 (B)74 (C)76 (D)78 &

o

<f%$7>

I . — o -
BRI Dy-y=r—2L(x-x)
GX

x=65 0 y=70 S, =10 > S, =5 r=08

.°.y—70=0.8-%(x—65)
T x=75
5 y=0.4X (75-65/+70=74 » i B -
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( A)I9JED » 222 3 > 45 .. 1P F 11 B #c? o B AV Bl T
MR F)T 10 BEcTI2E G 4147
(A) ¢ (B) 7 (C) 8 (D) ¢

<f%$7>

Py, qp=px+h,

I = 4356
4356-414X10=216=6* > i A -

(B )20.The square’s side length is 1, then tan/AOB =?

19 19 19 19 4
@2 ® 2 oLo?l
<fz47> \
OB=+3+2’ =13 » 0A=+/5>+2> =29
AB=+/3’+5 =34 \ p
(34)* =(V13)> + (+/29)? - 2x/13 x+/29 - cos L4OB
cos ZAOB = 19

) tanLAOBz? » 32 Bo

(B RLES AT AR FRRERAS T 5F 342 p40k?
(A)365X2+1 (B)366X2+1 (C)365X2+3 (D)366X2+3 *

<f%$7>

/1~172~ ... ~ 17310 2/1 272~ Ll ~2/29 5 3/1 ~ ... 0 12/31

f+ & 366 % 2 pit Lk 24

BELARET I 20 AR

2366X2+1 > ¥ B o
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( A )22.2 Frx+y+z=3, x+y-z=10, x-y=28 » B| x+y+z=?
(A)37 (B)36 (C)35 (D)34
<f%$7>
O 4 x+y=t=2t+z=3 > t=3z; t-z=10 > t=z+10 ° ¥ 3z=z+10 > z=5

@x:y=15 5 ¥ x-y=28»28+(15-1)=2 » y=2 » x=30
@30+2+5=37 » £ A

(A )23.% 508 F 2 8arimi AR
R EAPAY - S . ”“’ﬁ
B Z R G UEME?
(A6 (B)24 (C)40 (D)54 #*

<f%$7>
[5+1, 8+1]=[6, 9]=18

1818
:6 ’ ‘ps\? Ao
6x9 =

(D)24332 A FzppXFFF & P | h=pFFI3 %
LR A S I‘i’éwiﬁ?m“ fedagd & 21k
Z RS EERICL MK 2 RFH ) EERCL 2 K T
L EFFLP S 19Kk R ‘i EERLE N I e R Y
(A): 4{4iw%m(B) DA £ A
(Ol BIH Z X EFF en (D)) i{i—ﬂzﬁ%m
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(C )53 T 26 HELA%ELA-B-C-D-EZ :La;ié‘-?
MBI HERE A2 BF BRI CE2RR > ¥ L B P
il ﬁfﬂi ER IR E R 11 g J;L&-Eﬁ &rﬁ/\i}gﬁz,

Tm;fl—l =

A k \ﬁva/ﬂa/

H e i;’;(l) ~(3) ~ (4)= %?ﬁ’i\?mfgﬁ  F %'?‘(2):’1 5 PlRE Kk
A+C+E-B-D=? (A)I0 (B)11 (O)12 (D)13 %f

<f%$7>

A+E=11> B+C=11 > C+D=11

A+C <11

¥ C=9> A=1(% &)

% C=8> A=2>E=9>B=3 > D=4(& i+ 26 3f)

& C=8°A=2>E=9>B=4->D=3

. A+CHE-B-D=2+8+9-3-4=12 » i C o



=~ EEE(20 /20 £/10 A 0 £ 50 &)
sinB + sin€ . Prove: AABC is right triangle.

1. AABC is satisfy with sinA=
<f%+7>

: inB + sinC
sin 4 = - S =>» sin A(cos B +cosC) =sin B +sin C
cos B+cosC

a c+a’-b a’+b-¢’ b

( + )=—+
2R 2ca 2ab 2R 2R
b(c*+a’>—b*)+c(a’ +b* —c*)=2bc(b+c)
bc® +a’b—b’ +ca’ +b*c—c’ =2bc(b+c)
be(b+c)+a*(b+c)— (b’ +c’)=2bc(b+c)
> (b+c)a’=b"—c*)=0 > btc#0 > a*-b*-c*=0

Z4=90° » ANABC #_ & & = &7 o

cosB+cosC

c

2377 214192 & 224 ehiz
<f%+7>

224=2"x7

U 2B 4192=2°2" + 6)=

2’[2%°-D)+D]=2[(8% -1)+7]=2"xT[(8" + 8" +.....+8+1) +1]
=224[(8" +8% +....+8+1)+1]

24192 5 224 i #ic

3. (DS 32 <2,3>=9 > <B,4>=17 » <4, 5>=27 » <5, 6>=39 » R|<6, 7>=2

(2)p & AR
<f%+7>
(1)<2, 3>=2X3+3=9
<3, 4>=3 X4+5=17
<4, 5>=4 X 5+7=27
<5, 6>=5X6+9=39
<6, 7>=6 XT7+11=53
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